l | P
2.3. Circular flow of income

We know that in any economy, economic acti
" various goods and services take place continuou
some sectors create incomes for the factors whic

services. : ‘ s
Thus, the value of those goods and services are distributed among the owners of the factors
production (say, among the households which supply labour, land, capital and entrepreneurshi

their factor services o

Again, these households which have eamed income by supplying

production sectors, would spend that money for the purchase of various goods and services.
The consumption and investment expenditure would generate demand for various goods
services in the economy. This expenditure would induce the producers to undertake the produc
of various goods and services. So, this process continues. -

In thi . |
factl;i it;régr;i?gf;?ﬁznssﬁ}se.value of total output flows to the owners of the factors of product
income agains flows to producers or sellers as expenditure on Pr !

goods and services. So, there remai ¥ i |
of output. e a circularity in this flow of income, expenditure and the v

Hence, the cireular flow of i _
expenditure in an econol(:;rrl::llcril; i the circularity in the flow of production, incom®
' g a close link between different selctors of the economy

vities in the form of production and consumptionc
f various goods and services

sly. The production of
h are engaged in the production of those goodsar

10

Scanned with CamScanner



~a 1. Circular flow of j v - e
231 INCome in a two- W——~ S
’I;;;imple economy, if th em———r wo-sector ‘ _ SR

octor (say, F), then transaction b;:t Only two sectors, viz., the household sector (say, H) and the firm

s‘;s shown in Fig.-1. Here the ‘F’ sect‘:f en these two sectors will lead to a circular flow of income. This
EH'-sector supplies labour to the ‘F’ produces goods, and these are consumed by the ‘H'-sector. The

i - sector, and the ‘F'- ‘H’-sector
for purchasing labour power. On the other hand the ’ ?f:cto;- makes wage payment to the

sector makes payment for the goods they purchase fr .
the ‘F'-sector. Thus, this circular flow of income camo':’n
measured in three ways : : '% :
, L]
(i By estimating }he total value of goods and services by :‘% %: 2
generated during a given time period (also consid- ?’3 3 %
ered as the real flow) ; E 2

(ii) By estimating the total expenditure made by those

sectors during that time period (also considered as _ F
the money flow corresponding to the real flow) ; Fig-1
and et _

(iii) By estimating the income of all earning units of these two sectors during that time period.

The real flow implies the flow of goods and services across different sectors of an economy. On the

other hand, the money flow indicates the flow of money (in the form of expenditure on various
goods and services) across different sectors of the economy.

The real flow and the money flow of income can be shown with the help of a simple diagram
[Fig-2]. RS ‘ ' :

Let us assume that the ‘F’-sector 'spe:nds_? 10 crore for purchasinghbour power from the ‘H’-sector. -
So, the income of the “H’-sector within that time span will be ¥ 10 crore. The ‘H’-Sector in turn, would
spend that amount on purchasing goods produced by the "F’-sector. Hence, that amount again flows

Money Flow

5’ ~ | Real Flow

Household Sector

Money Wage
Commodity Price
Spoo9)
201136 INOqET]

- Firm Sector l<

Fig.-2
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. Gross Value Added (GVA) = [Va

.

| /.géua

" IUe of s :
: ale : ,
h\te“mdlate consumption. . s of all firms + Change in inventory stock] -

However, there are two concepts of valu
O i cEronsumptohiat ] CaPite added : (1) Gross Value Added ; and (2) Net Value Added.

al or e (l(:prec"] 'on COs S’ dedl]C ed rom he gIOSS value
adde ’ we g t tl t 1 1€ ¢ - d. [hi de(pll'etl-‘i t' 11 1( tl t) i t f t 1
B ation allowance iS required tO k 1vi

d e € net value ‘dde S 1 eep the prOdUCtlvlty

capital intact. Thus, a par _
of cap part of the output of capital goods is kept aside for this purpose. Unless the

fixed capital is kept intact (i.e., wom out capital i
 loutout apital is replaced with new fixed capital), there will be a fall

. Net Value Ad .
‘ e ue Added (NVA) = E?ross value added) — (Consumption of fixed capitalﬂ

national level, tl : . .
Atthe he consumption of fixed capital is defined as current replacement cost of the fixed

assets used up during a particular yearasar
of capital. | ¥ esult of normal wear and tear, and natural obsglescence

».4.1. Value added at factor cost and value added at market price

i il cr ot i e o it b e i b b i
g ! . , when this value added is valued in terms of market prices of
goods and services, it is called value added at market prices. Now if we deduct indirect business taxes
(e.g., excise duties, sales tax, etc.), and add subsidy to the value added at market prices, we get the
value added at factor cost. In fact, market prices include these indirect taxes, imposed by the
Government upon the ent_erprises, but these taxes do not flow to the factors as income. So, indirect
taxes are to be deducted from the value added at market prices to arrive at the value added at factor
cost. Again, market prices do not include subsidy. The Government makes subsidy payment to the
enterprises to encourage production (or export promotion). This subsidy amount flows to the factors
as their income. So, this amount is added to the value added at market prices to arrive at value added

at factor cost.

Here, if we deduct subsidy from the indirect taxes, we get net indirect taxes. So, Net indirect taxes =
Indirect taxes — Subsidy. It shows the net effect on the price of any commodity (since, indirect taxes

raise the price, while subsidy amount reduces it)-

- Value added at market price — Net indirect taxes = Value added at factor costj
L : N .

Similarly we can say, : ‘
Value added at factor cost () Consumption of fixed capital or depreciation cost

— Net value added at factor cost

= Factor income (rent + wages + interest + profits). |

In fact, production actually means addition made to the value of inputs by the collective efforts of the
factor; Ef roduction (i.e. land, labout;, capital, and entrepreneurship). In return for their contribution,
they get piid in the fornr*: of rent, wages, interest and profits. Thus, net value added would be equal
to the total factor income.

i come
2.5. Measuremellt_ 9f National !_r_tr___ﬂ

s

e - - di - allv three methods of measuring
: : d in different ways. There are basically
Natioha} income:=a A method (also known as the value added method), (2) the income

: . ’ duct
national income : (1) thenlzil;(t)u; method. Each of these methods is discussed below :

method, and (3) the €Xpe
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d by different me
alue-a sofall PTOduCts pl;gf;csf th)(;.rse values givrensbzzsa
ct (or v M e censu he sum - : . dn
25.1. PTOE_';’_,(,..M complet t fferent units, so thejr Mope

nclhOdn a

at, an indi 5
ccount measured i y |

;t'{\gr;d“d e ‘n year 13 A nc‘i services

- '1] < gl\'c - u S a .
a nanotr) dl:,?G%\TP Gince different & i inputs by other firms, anq thes
estimation Y ideration. : are i
value is taken into considera d outputs of some flrm;ed as inputs by yst O};?ejr flnfnsf' {ft}‘:/e merely
Production occurs mn ts which rms : . _
other firms in turm procuice (;urt}:;?uts produce y a-ll ztmg’the nation’s output by just addmg the
add up the market values 0f © hich arises in estim o counting or multiple counting,

ro

W
exceed the value of GNP. The err01:

values of the outputs ©

th o g
al value of . the vear. Consider, for inst

e mean the total V& during the year. : ance,,
G addedt’e‘r:als and intermediate inputs used & i
minus the cost of raw ma

heat to be used asin
: d purchases thew Pt
dinthemar €5+ the value ad
bakery which produces b&eatd&s;libi;e:he S T ebotr it Foka. Then Bt
Suppose, for simplicity, tha

heat purchased.
s the cost of the W
bakery is the value of bread produced ! nputs (i.e., inputs which have been produced b

i intermediate i e
If there are other raw materials or 1n : it
other producers), these will also have to be subtracted from the tp

u Steps involved in the calculation of National income following the V;lue-added method :
If we want to measure national income on the basis of value-added method, then we should follow

the following steps : , b Mo by il _ - |
(a) Identification of production units in three broad sectors : At first, we should indentify the
production units and their productive activities should be classified into three broad sectors of
the economy, viz., the primary sector (consisting of agriculture, forestry, fisheries, etc.), second-
ary sector (consisting of industrial sector) and the tertiary sector (consisting of tradc and

business sector, transport and communication services, etc.) For instance, the poultry fams,
dairy farms, etc. would be included in the primary sector. |

e output produced in a year by a Produce

(b) Ca_lculation.of net value-added (at factor cost) for each production unit : If we deduct the value
of intermediate goods (say, raw materials) and depreciation cost from the gross value of output

we get net value added at market prices. Then i
. Then, indi .
we get net value-added (NVA) at gctor cost R

NVA (at factor cost) =

Value of grogs output

(=) Value of intermediate goods
(=) Depreciation allowance

) Net indir
; ect t
ect taxes = i

direct taXes( ) ‘
=) Subsi
factor cogt ; | We measyre tldy Sy

secondar and terti Cto w
- y ary sect
‘e fc N JLf(: iI . rs’ e gEt tlle

(d) Calculation of Natj
abroad with the NDPf
.+ National income = ;

he net value-added 2&‘ each entefPrise ¥
NDP at factor cost for those three sector®

in .
*econdary Sector + NVA,_in Tertiary Sect?t
stage, fe !

fc

Scanned with CamScanner



AR\ Nanonanincome & its Accounting

J b La57

analysis is GDP (at m .

i arket price) = GD

_ ummation of Gross Value Added (GVA) of all firms =S price) = GDPy,,
=3 GVA

Mbasic identities of macroeconom
- o

pfm(@=12...,n) 7 where, GVA; = GVA of the
i-th i (s =

="' g1 ' i i
Here ‘=" sign means an identity’, i.e., ‘always equal’

Gince, NVA; = GVA,; - Depreciation of the i-th firm D)
or, GVA, = NVAI + Dl I

GDPHIP E,EINVA'- +E{D" :

[t

Error of double counting : Note that it is value added which measures the contribution of a producer
towards the product. We cannot, for example, consider the total value of the almirah roducgd by the
slmirah-producer as the result of his efforts because the steel used as input is egbedded irZ’ the
slmirahs, but the steel was produced elsewhere in the economy. Thus, if we consider the values of

both steel almirahs as \_Nell as steel sheets produced in the economy during a given period, it creates
an error of double counting. : : ’

There are two ways of avoidin.g the problem of double counting : (i) to take into account the value-
added at each stage of production during the year, and (ii) to distinguish between final products and
intermediate products, and only the value of final goods should be taken into account.

When any product, produced in any year, is employed and used up as an input for producing
another product in the same year, itis termed as an intermediate product. All other uses of a product
are final uses. The term ‘final demand’ refers to the purchase of these final goods and services for
consumption, investment (including inventory accumulation), export and for use by the Government.
Let us consider the following numerical example : ok

- Table-2
[ i, B e Sales Value ~ Purchase Value Added
Stage of Production - (’000) ~ of Intermediate G
7 ey gt Inputs (X '000) i
1. Wooden logs - 10 ' : T 4
2. Wood pieces | ' ' ' |
after sawing 100 e : .
3. Wooden furniture 130 - =
Total = 130
L

Table-2 shows that either the sum of value-added {i.e., ¥ 1,30,q00) or th'e valqe of the final product
(i.e., the sales value of the wooden furniture) should be taken into consideration.

For instance. if we take into account value of wooden logs, wooden pieces after sawing npd wooden
fumiture pr;duce d in a country during any year, there will be an error of double counting because

the value of wooden furniture includes the value of wooden pieces after sawing etc. Hence, we

should either consider the sum of the value-added or the value of the final product (see Table-2).

N Items to be included in this calculation : The value of the following goods and services are to be

included in this estimation procedure::

(1) Value of all goods and services which are marketed ; -
(2) Imputed value of goods produced and consumed in the household sector (which form a major

part of total production, particularly in less developed countries) ;

(3) Imputed value of owner-occupied house ;

e — T
DL L

g <
A s e e 4
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e 2 e ; . bRy L2 b

HAant

olice service etc.

o = M s Y l n‘lﬂrkcd ; . ad on the bas;
(4) Value of goods produced but not y¢ o defence ™o dete inéd. On BiE sl of)
s which have been consyy

wyvices 11 a
(5) Imputed value of common public serV Jc cupi”d house € 500 e i .
i oa( 1) . u C
For instance, the imputed value of I ‘llocﬂ . unllf‘rlg’! twhiCh SImlIﬂ’i:o be }c)ione Onst;re so|
\in the ricé : an a )
P olice service) € © bagi

rental charges of a similar house witl -
b pe valued at "Imr like ol
ices.

by the producers themselves, may blic services
in the market. The valuation of some public=~. ¢ such 5€ arket
e 1O ..
h ar he value of her service is not g,

of the Government expenditure Of . whic ¢
erCcsr 3

However, all personal and houscholc 5fother nurses hef baubr):e its value has to be included in th

aid n / ons (like doctors, layw Ere

5

estimation procedure. For instance, if a MO%
: o ded by @ d pers
into account ; but if the same service IS provi loye ‘i
’ - elf-emp imilarly, the va '
e S he GNP total. 5 ¥ lue of Pure

: ; : cas
national income accounting. Thus, I €% 1 Jed in th -

: : clude ection 2.2.).
accountants etc.) the values of their services arein® estimation (please see 5 )
exchange transactions are also not inclu ed in this

2.5.2. Income method hei
. ) A .« the 1

Another method of calculating national mcome_ls th N
ally : itis the ¢

‘national income’ is interpreted quite liter
all the income earning units of the country.

We first compute the income of each and eve

Q

ed, are excluded frop, th
i

4. In this method, the phrage

come netho )
i.e., the total income of

me of the nation,

ry earning unit in the country, then we add up all theg,
incomes. - ¥ : .

(a) Different types of incomes : The different types of incomes to be‘ added }1}3 in this way canbe

. (1) wages and salaries, (2) interest, (3) rent ang

: (a) profits of entrepreneurial firms and

described under the following headings

(4) profits. Profits, in turn, can be divided into twWO parts .

(b) corporate profits, i.e., the profits of joint stock companies. One part of corporate profits goes
ibuted profits and is keptinthe

o the shareholders as dividend. The other part consists of undistri
company’s reserve fund. Both parts are to be included in national income.

Where do the incomes of the professional people like lawyers, physicians, singers, etc., fit intc
this picture ? In the eye of law, there is no difference between the nature of profits of a firmand
that of the ‘income’ of a professional person. Because, profit is calculated as the difference
between earnings and costs. Incomes of professional people are, therefore, considered to belong

to the category of ‘profits of entrepreneurial firms'.
(b) Treatment of durab : - .
e uIrta's le fo}?ds : Another point needs to be mentioned in connection with the
sake of itself The 1:101:,0 t alt b concerned with the monetary value of a commodity for
i o CD;nmodity i)/’{ :1? ue is tal'cen to be an indicator of the satisfaction or utility obtainet
advance this argumen.t for fg’CL“V?Sflgators engaged in the measurement of national incom¢
ihisargument s valld, v diis f;‘:g on thE_ money values of commodities and services. Evenl
:ould find a host of durable con:zxﬁ:l:lgm aé?pl(ying it in a particular context. These days Wt
ousehold. : ; oods (a car, : in an
goods]in I_iven if money value is taken to be the a radio, _a-TV set, and so on) In 2 )
4 a given year should not be totally inc] measure of utility, the sales values of s
e goods are used over a number of YEai; e uded in the national income for the year pecaust
+1e., they yield their utility over all these year* lc‘

durable good lasts 25
=7y years and is s :
include only }/,s of this value, j.c. ;}16(1] ata price of ¥ 1,000, any year’s national income $ 0
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‘gm ’ National Inco
be included in the national income. It is iy . } SEE’
from within the geographical boundarie material whether this inco

‘ s of tl
Gome incomes to be excluded : e country.

.\ Transfer income : If we are t
4 exclude all transfer incomes (flgr?alwlate national income in this way, we must carefull
Instance, unemployment compensatio;xs pensi care ty
, pensions, grants,

flood or drought reliefs, etc.) from .
X i R the n ' ;
any productive activity. ational income. These incomes do not spring from

i+ est income : i
i inh:;r all mcomz: Ezts trictly correct we must, in fact, exclude from the national income of
Cc):nsiéer, for example tl%: rilf:::eci through the production or sale in that particular year
’ est on consumption loans. Th i is i .
) ) . The person getting this interest-
income does not earn it through current production. Thus, ilrglterest gincorr;ge accruing to

households is not included in national i
; al income b ‘o ’ ;
operating surplus of business firms. ecause this is already included in the

(iii) Inc'ome .from fhe. sale of second hand goods : Similarly, income earned by selling old
articles like paintings or used old cars would not find a place in national income.
(iv) Illegal income : The illegal incomes are also excluded from this measurement.

(v) Corporation tax : Corporation tax is a part of profits of enterprises. So, while calculating

national income, profits before deduction of corporation tax have to be included. Hence,
corporation tax should not be included separately.

(vi) Voluntary works : Again, there are some activities which are excluded from national
:ncome calculations because they cannot be measured. Nomoney is paid for these activities.
Work performed by a housewife or by a voluntary social worker is of this type.

(vii) Windfall gains : Windfall gains like lotteries are also excluded from this measurement.

(viii)Income tax : The income tax paid by the employees of any organisation should r}ot be
included separately in this calculation because this amount is already included in the
‘compensation of employees.’ i

(ix)y Payment of wealth tax, gift tax and estate duty : Since these taxes are paid out p_ast savings
of different individuals, s0 these tax receipts of the government should not be included in
national income. : . o

(x) Sale of shares, bonds and debentures : The amount received by any md'1wdua1 or
organisation from the sale of second hand shares, bonds and debentures 1s nqt also
included in national income because these transactions do not generate new assets (it only
leads to capital gains) within that year. L fiod!

B Steps involved for the calculation of national income following ‘income method":

From our previous discussion we can now identify the stages OF steps involved in the calculation of
4 ’
national income on the basis of ‘income method”.

1 ; s €1 cation of earning units : :
Step 1 : Identification oy OF classify the earning units according to their sectoral affiliation
o iden

At the first stage we are t 4 with primary /agricultural sector, industrial/secondary

(ie., whether their activities are concerne it
sector and service/tertiary sector). Hence, we g

() Earning units in the primary sector, q
(i) Earning units in the secondary gector an

(i) Eaming units in the tertiary sector.
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(2) Step II: Categorization of factor incomes : :

In the second stage, we are to identify or cnlcgorm]L

i WU 5 sala

(1) Compensation of employees (say, wages & bl

(i) Operating surplus (say, rent, interest, profits),

(iii) Mixed income of self-employed, and

(iv) Net factor income from abroad. ) - . _ .
imati ic and national in€O™M®" ther to estimate domestic gy

(3) Step III : Estimation of domestic an - added to8 :

At this final chg;: different types of factor incomes @

national income. i b employees

Here, Domestic income (or, NDP;.) = Compensf o
+ Operating employed

+ Mixed income of self-

:~ income 5
= Domestic In¢ e from abroa d = NDP;,_ + Net factor incomg
+ Net factor Inc from abroad.

inco

the factor

rics),

and National income (or, NNP;.)

— hold (the owner of the labour service); )

If W, = Wages and salaries received by the i-th M S
P; = Gross profits earned by the i-th household (the owne of capital), and :
1; = Interest payments received by the i-th hQUS@hOId_ ((lener L] f
R: = Rents received by the i-th household (owner of land),

m m

m m - L
then, GDP,,, = ZW,' +ZP5 +Zri +ZR5 ({ =152 cnicilft)
i=1

i=1 i=1 . =1 7T i

® Disadvantage : -
(i) The main disadvantage of computing national income in this way is that, if we adopt this

method, we have to keep track of all the earning units of the country. It is not only time
consuming and laborious but also very expensive to contact each and every one of the millions
of earning units of the country ; calculate their incomes and add them up.

(ii) We also face some difficulties in the allocation of factor incomes.

1. Itis very difficult to measure how much of profits earned by any entrepreneur has been
generated out of his monopoly power, and how much due to the risk taken.

2. It also becomes difficult to allocate the profits among factors of production if it arises
because of price inflation,

3. ltisalso difficult to allocate the inco i i
among the factors of production, ek SEIf-employEd as rent, interest, wages and profl

?_._E._:?__.ngipenditure method
The third method ofgs"lk“imatirnlﬁ
idea behind this method js that
can be described as expenditure
individual Y. Here, X earns a (gro,

Hence, any expenditure is an income an
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md'ties p OdUCEd by the Country d i 1 Vv S, an a ernative me hDd .
. i e urir g the gl en y

. ; ear, Thu i

sl:imatmg lncome WOUId be tO CdlCLlldte the total amount Of' cxpcnditu;‘e in t}ite Coutrlltty t f

. ousl the answer to this question depen .
S:v;ndirzre is gross .investmcnt or net inl\)!esﬂ;z::tvzil.‘;flls{mgzﬁcz'rlivcat(r!cacri‘:t'the Eovsmmsn;mvesﬁnent
invesﬂ“ent expenditure or not) and on whether the various types of leoxn afl'teen e ff.0m
mvestment and net exports) h.ave been calculated on the basis ofmarket . e Uﬁ; (Ctonsumph'om
whether sales taxes and other indirect business taxes have been deducted ffc:rlﬁe;; :thC C;fczoséi 1(11;;
xpenditure on GDP is divided into three parts : Pt .

T‘he tOtal e
(a) Final consumption expenditure,

) Gross Domestic Capital Formation (GDCF), and
(© Net exports of goods and services.

Again, the final. consumption e?xpenditure consists of private final consumption expenditure (C),and
Govemm(?nt final covnsumptlo_n expenditure (G). It is to be noted that the government final
consumpfion expenditure consists of (i) compensation of employees (working in the government
cector) and (ii) net purchase of goods and services by the government. This expenditure shows the
current expenditure on goods and services incurred by the government for providing services of its
administrative departments (less sales). The GDCF also consists of two parts, viz., Gross Fixed
Capital Formation (e.g., expenditure on construction, machinery, etc.) and the change in stock of raw
materials, finished and semi-finished goods, etc. The GDCFis considered as gross domestic investment
(). Again, net exports refer to the difference between the value of exports (X) and the value of imports
(M). It is the net expenditure made by the foreigners on the domestic product of the concerned
country. , - '

Further, the final consumption expenditure incurred by the resident households includes
(i) expenditure on new durable and non-durablé goods and services (the value of net sales of second-
hand goods, scraps and wastes has to be deducted), (ii) direct purchases made abroad, (iii) food and
other items produced for self-consumption, (iv) imputed gross rent of owner-occupied buildings,
(v) wages, salaries and other benefits received in kind, (vi) value of gifts received in kind (net).

In the domestic territory of a country, the final consumption‘expenditure made by the resident
households and private non-profit institutions (who serve households) can be considered as private
final consumption expenditure (C). However, direct purchases of consumption goods and services
made by the non-residents (households and extra-territorial bodies such as foreign embassies)
should not be included in this domestic private final consumption expenditure.

Thus, C, I, G and (X - M) denote consumption, private investment, Government expenditure and net
exports respectively at market prices. . 5
Hence, the sum of these terms gives us Gross Domestic Product (QDP) at market prices. If we wish
lo get Net National Product (NNP) at factor cost or nati‘onal income, we deduct depreciatior
(denoted by D) from this sum. Note that D denotes depreciation of all the capital stock owned by the
country, i.e., capital owned by the private sector as well as capital owned by the Government. Finally
we deduct net Indirect Business Taxes (1BT) from GDPmp and add Net Factor Income earned abroa

(F). Thus, we have :
GDPyip =C+1+G +(X-M)

- NNP;. = GDPpyp ~ D-1BT+E
— National Income.
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